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1. Let X ~ Bin(n,p). We will find Mx(t).

(a) First, what is E(et*)? Write this as a sum.
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(b) Now use the binomial theorem (a + b)" = ¥i_,(})a¥b™ ¥ to simplify your sum from part (a). You
will then have a concise expression for My (t).
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(c) Use your result from part (b), together with the fact that E(X") = 1\@(0), to find E(X) and Var(X). Do
these agree with the formulas we learned previously?
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2. Suppose random variable X has probability mass function P(X = x) = (E) (%)x, for integers 0 < x < 3.

(a) Verify that this is a valid probability mass function. ﬁ Zop, Linve c(
conT! |
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(b) Compute the expected value of X from the pmf.

(c) Find the moment generating function My (t). If you think for a moment (ha!), it is possible to write
My (t) without using any summation signs or addition symbols.

(d) Compute M (0). Does your answer agree with your answer for part (b)?
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